~+

(p + barp)/(pi" +pi)

Ratio to ALICE

o
©

0.7

0.6

0.5

0.4

0.3

0.2

0.1

0.5

7000 GeV pp SOft QCD
= L T I
— (p+p)/(1t+17) vs pT (alice2015-y0.5) ]
- = ALICE -
— --=-- Pythia 6.428 359 —
— —4A— Pythia 6.428 370 7
—_ —*— Pythia6.428 a ]
[ ---+-- Pythia 6.428 dw _
o Pythia 6.428 p0 -
- Pythia 6.428 pro-q20 -
- A =
- - S e
— ,* [ - iR ',' —
— N Y- =
— s D AA ]
: y;f-;ﬁ@i---e-g-::
__ _, 4 - 4 T A —
— — -e!" SR T "“‘9 \,./ n
: I-‘.l ' ?!-gw / 1 :
T =

Lo |

5 -
g
P
s
1

D
2
7 <

(g

%Y
v

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


